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Quiz 12. Water at 40°C flows from tank A to tank B as shown in the figure. 
Find the volumetric flow Q, neglecting entrance losses to the capillary 
tube as well as exit losses. Assume laminar flow and use the following 
energy equation and the head loss through the pipe, 
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where, 𝜌𝜌 = 992 kg/m3 and 𝜇𝜇 = 6.51 × 10-4 N⋅s/m2 are the density and viscosity of water, 𝐷𝐷 and 𝐿𝐿 are the 
diameter and length of the tube, respectively, and 𝑉𝑉 is the mean velocity through the tube. For laminar 
flow, 𝛼𝛼1 = 𝛼𝛼2 = 2. 
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